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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

1.  Answer any ten questions:

their own words as far as practicable.
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c)

d)

What is Excess Demand?
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Define Inferior good.
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What is the shape of the demand curve when
demand is perfectly inelastic?
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Does a change in own price lead to a movement
along the supply curve or to a shift in the supply

curve? Explain.
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What is an indifference map?
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What is the shape of an indifference curve if
the two goods are perfect substitutes?
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Distinguish between Inferior goods and Giffen
goods.
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Define Production function.

T AR HLE TG |

What are 'Ridge lines'?
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When does an Isoquant become 'L' shaped?
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Define Iso-cost curve.
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State any two assumptions of Perfect

Competition.
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Differentiate between firm and industry in the
context of perfect competition.
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"The demand curve of the individual firm under
perfect competition is infinitely elastic"—
verify the statement.
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What is Expansion Path?
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Answer any four questions: 5%x4=20
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Define 'budget line' of a consumer. What are the
determinants of the slope of a budget line? What
are the factors that cause a shift of the budget
line? 2+1+2
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What do you mean by marginal rate of
substitution between two commodities? How is
it related to the slope of the indifference curve?
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Briefly explain the properties of an isoquant.
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Suppose that the Demand and Supply curves of
wheat are given by the equations—
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Answer any two questions:

SR AR, A bifewl e @ielie @

Heeerefer o —
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1)  Find the equilibrium price.
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11)  Find the equilibrium quantity of demand
and supply. 2+3
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How can the Average Product Curve and
Marginal Product Curves be derived from the
Total Product Curve?
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Briefly describe the main determinants of the

market demand curve of a commodity.
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Differentiate between Normal Profit and
Supernormal Profit. Explain the necessary and
sufficient conditions of equilibrium of a firm
under perfect competition. 4+6
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Show how the price elasticity of demand varies
along a negatively sloped straight line demand
curve.
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Establish the following relationship by a

diagram: Price effect = Substitution effect +
Income effect.
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Distinguish between Fixed Cost and Variable
Cost. Is there any fixed cost in the long run?
Explain the relationship between Average Cost
and Marginal Cost. 3+2+5
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